
8576 8576.5 8577 8577.5 8578
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

2

2.5

3

3.5

4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
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1.5−

1−

0.5−

0

0.5

de
lta
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4e

X

delta13_12X4eX:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

0.5−
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1.5

de
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_1
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delta46_12X4eY:cyclenum {run == 7286}
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n

run:cyclenum {run == 7286}
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0
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3
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segment:cyclenum {run == 7286}



8576 8576.5 8577 8577.5 8578
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117.4−

117.2−

117−

116.8−

116.6−

116.4−

116.2−

116−

115.8−

115.6−

115.4−

115.2−

us
l_

1X

usl_1X:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

7

7.2

7.4

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

us
l_

4a
Y

usl_4aY:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

51

51.2

51.4

51.6

51.8

52

52.2

52.4

52.6

52.8

53

53.2

us
l_

4e
X

usl_4eX:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

11.5

12

12.5

13

13.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

39.5−

39−

38.5−

38−

37.5−

us
l_
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X

usl_12X:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

7284
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7285.5
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7286.5

7287

7287.5
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n

run:cyclenum {run == 7286}



8576 8576.5 8577 8577.5 8578
cyclenum

145−

144.5−

144−

143.5−

143−

us
r_

1X

usr_1X:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

7

7.2

7.4

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

200.2

200.4

200.6

200.8

201

201.2

201.4

201.6

201.8

202

202.2

202.4
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r_

4e
X

usr_4eX:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

7.5

8

8.5

9

9.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

38.5−

38−

37.5−

37−

36.5−u
sr

_1
2X

usr_12X:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

7284

7284.5

7285

7285.5

7286

7286.5

7287

7287.5

7288

ru
n

run:cyclenum {run == 7286}



8576 8576.5 8577 8577.5 8578
cyclenum

32857

32857.5

32858

32858.5

32859

us
l_

co
il1

usl_coil1:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

6580

6580.5

6581

6581.5

6582

us
l_

co
il3

usl_coil3:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

4064.2

4064.4

4064.6

4064.8

4065

4065.2

4065.4

4065.6

4065.8

4066

4066.2

4066.4

us
l_

co
il4

usl_coil4:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

628−

627.5−

627−

626.5−

626−us
l_

co
il6

usl_coil6:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

15076.6

15076.8

15077

15077.2

15077.4

15077.6

15077.8

15078

15078.2

15078.4

15078.6

15078.8

us
l_

co
il7

usl_coil7:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

7284

7284.5

7285

7285.5

7286

7286.5

7287

7287.5

7288

ru
n

run:cyclenum {run == 7286}



8576 8576.5 8577 8577.5 8578
cyclenum

28301.4−

28301.2−

28301−

28300.8−

28300.6−

28300.4−

28300.2−

28300−

28299.8−

28299.6−

28299.4−

28299.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
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5410.5−

5410−

5409.5−

5409−

5408.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
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3338

3338.5

3339

3339.5

3340

us
r_
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il4

usr_coil4:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

1023−

1022.5−

1022−

1021.5−
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us
r_
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il6

usr_coil6:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

18456.6

18456.8

18457

18457.2

18457.4

18457.6

18457.8

18458

18458.2

18458.4

18458.6

18458.8

us
r_

co
il7

usr_coil7:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
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7284.5

7285
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7286.5

7287

7287.5

7288
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n

run:cyclenum {run == 7286}



8576 8576.5 8577 8577.5 8578
cyclenum

424.8−

424.6−

424.4−

424.2−

424−

423.8−

423.6−

423.4−

423.2−

423−

422.8−

422.6−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7286}
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70−

69.5−

69−

68.5−

68−1X
_c

oi
l3

1X_coil3:cyclenum {run == 7286}
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30

30.5
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31.5
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1X
_c
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l7

1X_coil7:cyclenum {run == 7286}
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487.5−

487−

486.5−
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4e
X

_c
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l1

4eX_coil1:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

93.5−

93−

92.5−

92−

91.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
cyclenum

30.5
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31.5
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32.5

4e
X
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4eX_coil7:cyclenum {run == 7286}



8576 8576.5 8577 8577.5 8578
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168.5
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169.5
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Y

_c
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4aY_coil4:cyclenum {run == 7286}
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42.5
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43.5

44

44.5

4a
Y

_c
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4aY_coil6:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
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9−

8.5−

8−

7.5−

7−4a
Y
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4aY_coil7:cyclenum {run == 7286}
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180.5
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4e
Y
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l4

4eY_coil4:cyclenum {run == 7286}

8576 8576.5 8577 8577.5 8578
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23.8−
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23.4−

23.2−

23−

22.8−
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22.4−
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22−

21.8−
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4e
Y
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4eY_coil6:cyclenum {run == 7286}
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7.4−

7.2−

7−

6.8−
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6.4−

6.2−

6−

5.8−
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5.4−

5.2−
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Y
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4eY_coil7:cyclenum {run == 7286}
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X
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12X_coil1:cyclenum {run == 7286}
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86−
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X
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9
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X
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12X_coil6:cyclenum {run == 7286}
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X
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12X_coil7:cyclenum {run == 7286}
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run:cyclenum {run == 7286}
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